H & 0l & AHS B Ml A

S AT
M AEIH2 285 22
el ALIHAISR HMel EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rar-=inl; 64,804,091 46,068,911 18,735,180
= 154,000
Al 21,445,605
[Ea 43,204,486
28012 28X 2 19,805 18,154 1,651
ZEIHALR XMl 19,805 18,154 1,651
JEIIHAME Xel 19,805 18,14 1,651
201 et23| 19,805 18,154 1,651
01 AtR2t2|HI 18,600 17,000 1,600
Odgt+=H| 18,600
OAEIIHZSA HAZS A 2l
5, 0002 *150%* 122 9,000
OAMIIH 2515 LSHE 7Y
80,0003 * 124 9,600
02 S3=4ghl 1,205 1,154 51
O0ss2= £ MA 1,205
OctE & el SK RBR= 1,205
=M 2,530& 25021 633
Skl 4302 76021 327
. SIEHS 1,630 %1502 245
OtMGL) e otexd 43,805,654 28,679,357 16,126,297
= 140,000
Al 15,332,000
o 28,333,654
ot &bl 43,805,654 28,679,357 15,126,297
= 140,000
Al 15,332,000
Ea 28,333,654
ot&2te 16,473,904 8,829,357 6,644,547
101 @12A4H| 68,239 65,394 2,845
04 JIZtNZ22 XS 2+ 68,239 65,3% 2,845
Ootd2+& 68,239
OoJlzs 79,6702 x4 H =128 40,792
Oxg=g 79,6708 4 & 562 17,847
O=EH| 5,0002 x4 1282 2,560
OusH| 5,0003 x4 128 2,560
OIEse 2,880
i< Xt 40,0003 x4 H+6E 960
Y PUIE] 20,0003 x4 +62 480
. SMIH 60,0002 x4 +6& 1,440
Og &S Itd| 400,000 x4 E*12] 1,600
201 et 3| 1,872,980 1,039,780 833,200
01 At22t2l] 1,838,780 1,011,580 827,200




SA AL
ZM: oHMGtD ASH StEEY
chl: ol &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ogt+==H| 25,700
OotdE =9 U 28 & o2 2 4
Xl 350,000 *50H 17,500
OBIETY Lf 2% U o1F @t s40t &
7 70,0002 *1000H 4 7,000
0SIHEN S TH7Y
100,000& * 122 1,200
oul=H| 1,040
Opot& el 1,040
=225 80,0002 x4 +23] 640
. 2R3 50,0002 x4 +23] 400
ogx=z 1,548,000
O=4271(0.3m") 560, 0002 *10CH 90 504,000
O=421(0.6m") 660,000 *10CH 90! 594,000
OEIEEH(15E) 500,0003 = 10CH =90 450,000
o2g+d 2,040
OactE e A3 (2A12H0I L)
70,0002 x4 <33 840
OAstE2te| 2133l (2A12t=1L)
100,000 4 & x33] 1,200
OXt&r& Ryl 1,000,000& «1CH* 12 12,000
OFQ #AX| SlHZHHS T SR
250,000,000 250,000
® 222 3,200 28,200 6,000
0ZZ23 ¥ HAl 20,000
OFII2S U HoH+ER3
2,500,000& ~12& 30,000
OB =2 SHYI
150,000& * 12 1,800
OAIZ2E =X 2,400
Ozl S bl F|
200,000 * 122 2,400
202 04l 7,600 7,600
01 SLHoIH 7,600 7,600
o220l 2,800,000& 2,800
oZUAHEI(ZZ) 200,000 2+ 122 4,800
203 =8| 3,800 3,800
03 A=A PR FZI| 3,800 3,800
OXlgotd HHl HRF& 3,800,000& 3,800
204 MPo-HAH| 17,400 16,800 600
03 S3g 23| 17,400 16,800 600
otiel syl 50,0003 x25E «12& 15,000
otel#sHI(HY) 50,0002 x2& * 12 1,200
OM==g 100,0002x1&+12& 1,200
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ch?l: ol EH| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
305 Hia =S 10,000 10,000
01 b= S 10,000 10,000
Odt& 2l o tiats 10,000
Otiat= 10,000,000 10,000
401 AlZHIZ SO 13,493,885 7,455,983 6,037,902
01 A28l 13,467,882 7,438,745 6,029,137
OYM MAE(MAIDE) SHEEHIS A
50,000,000 50,000
OYA S0tS(Fatel 1336-6) MEEHISA
225,000,000 225,000
O"YA Sclots (Sl 687) MEEHISA
25,000,000 25,000
OYA =3t (0123%) FLUEIAILLX
SAHFRIE 04 200,000,000 200,000
O=2¢ 30 (24H) MHE ZHTA
200,000,000& 200,000
O HAA(MEDIZ) SHEEHISA
50,000,000 50,000
O BHEA (01H1210tS) SHEEHIS AL
37,500,000 37,500
Ol Broid(Brede| 583-481X) St EHIS
At 25,000,000& 25,000
OQe BHoIA(Bheie| 583-681XI) GHEFHIS
At 25,000,000& 25,000
O=22F DAk (D4ate] 918-50) SHEEHIZAL
50,000,000 50,000
o2 S (SZ0I2) SIHEHISA
150,000,000 150,000
Oo=2g A (&2l 1044-13) SHEFHISA
125,000,000 125,000
O=2 L2l (GtL0tE) St EHISA
40,000,000 40,000
o= SEA (&=l 1044-16) SHEEHIS A
65,000,000& 65,000
o2 &IOS MEEHISAH
50,000,000& 50,000
02 UHA MM ZHTAHELEO
&) 600,000,000 600,000
OHY HUH WA ZHBA(FLUHO
ol &) 1,000,000,000& 1,000,000
N MBS MEZHIZA
175,000,000& 175,000
Oy Z=A0IH(35012) ZHISA
38,000,000 38,000
0¥ 4Fd(4Z0t2) SIEEHISA
25,000,000& 25,000
OFY S (MEDZ) SHHFHISA
50,000,000 50,000
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ch?l: ol EH| EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFY HUH(FEXM=Xl) SAHHHIZA 2,000,000
O3 A 400,000,000 400,000
24l 1,600,000,000& 1,600,000
O&g A24AotA(OtA0tE) ZHISAH
150,000,000 150,000
Otlg EHEY(SEDIZS) FYUBJAL &R
SA 650,000,000& 650,000
Odtg ZUA (H==0t2) SHEEHISA
42,000,000 42,000
ody A (sel 1522-1) St FHISAH
250,000,000 250,000
Oodd HYH(LHOS) UXE FHIBA
150,000,000 150,000
ONH =0t=45td(=010t2) ZHISA
75,000,000 75,000
ONY St (23171012) SHEEHISA
225,000,000 225,000
OSE =0t MEZHISA
40,000,000& 40,000
OS& McIlte MEZHISAH
150,000,000 150,000
OSE HLtitS MEEHISAH
180,000,000 180,000
OSE& NE10tE NEEBISA
70,000,000& 70,000
OSE Mel=AotA(MEI0E) SHISA
130,000,000 130,000
OSE HatntS(S8el 1209-8581 K1) N
SA 75,000,000 75,000
OSE HuASHA(MA0HE) BHISA
150,000,000 150,000
OSE SZ20t= NEZHISA
45,000,000 45,000
OSZE 2S0t= MEEHISA
250,000,000 250,000
OSE =S40t (2S0IS) ZHISA
450,000,000 450,000
OSE =0ol0t= NEZHISA
250,000,000 250,000
OSE MS10tS MEZHISA
180,000,000 180,000
OSE =10t=(tH=2l %5 X)) MEEHIS
At 150,000,000 150,000
OSE =10t (=2l %B5-18X) MEEH
SA 120,000,000 120,000
OSZE U=10t2(tH=2l 9%5-178Xl) M A
SAt 80,000,000 80,000
OFS O|XH(HH0I2) SHEEHISA
150,000,000 150,000




FA A4
3 otal XS St Y
=9l old 3l R
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSA Ot (22l 1176-4) SHEEHISAt
25,000,000& 25,000
OSAM LH2t0tS(LHtel 1346-46) MEZHIZ AL
75,000,000 75,000
OSFAMN St (22t0tE) SHEEHIS A
70,000,000 70,000
Oa=s YA (SALZAL| 37) StAFHIS
At 35,000,000& 35,000
o= HEA(01H0E) IXE FHISA
250,000,000& 250,000
O4= MEAE(C=S0IS) SHEEHISA
150,000,000 150,000
Oa=s 2 (Z2I0t2) SHEEHISA
50,000,000& 50,000
045 LA (HH0IS) BHISA
100,000,000 100,000
Ods FLIAoHH(LHA20LS) ZHISA
275,000,000 275,000
OdS ot&0tE MEZHISAH
150,000,000& 150,000
Ods 223 (=20t2) St EHISA
70,000,0002 70,000
O8s 223 (HA2A0IS) SHEFHISA
25,000,000 25,000
Ods ELH(S20I2) SIHEHISA
30,000,000& 30,000
Ods LI (=L0I2) SHEEHISA
100,000,000 100,000
Ods MBS MEEHISA
45,000,000 45,000
Otts 223 (22c] H0-2HX) otdEEIS
At 105,000,000 105,000
Ods 22 (222l H0-8Rl) SHEFHIS
At 150,000,000 150,000
OdS AMEONS MEEHISA
75,000,000 75,000
Odts LA (22l 711-12) St EHIS A
60,000,000& 60,000
Ous AL240HH(22012) FHISA
105,000,000 105,000
Ods YA (Xdel 1434-2181X]) StEEHIS
At 43,000,000 43,000
ods ==0t2 MEZHISA
150,000,000 150,000
Ods LI (AeI0t2) SHEEHISAHEFL
010l 4F) 50,000,000 50,000
O4otd & M 25 otdEHISA
1,000,000,000& 1,000,000




SA AL
S OrNGH) XS St
=91: sl (EH9): ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot U AldE & 2tF JHIAE
500,000,000& 500,000
OJIEEHIS A &AIZ A
11,305,500,000& %2.94% 332,382
Ootd DI=EXN 242 200,000,000 200,000
OBt 2eEY U SI| 242
30,000,000& 30,000
03 A2 THYI 26,003 17,238 8,765
OdlEEBISA 11,305,500, 0002 *0.23% 26,003
Aot AUIE AF2CIANAY 25 280,000 0 280,000
= 140,000
Al 70,000
[Ea 70,000
401 AIEHIX R0 280,000 0 280,000
= 140,000
Al 70,000
= 70,000
01 Al&HI 280,000 0 280,000
Ot ADE HF2ACAIAE 280,000
O3 A 70,000,000 *4JH 2 280,000
= 140,000
Al 70,000
= 70,000
TEE EotE LA (AHIZH]) 2,138,000 700,000 1,438,000
401 AIZHIX S0HH 2,138,000 700,000 1,438,000
01 AlZH| 2,138,000 700,000 1,438,000
O7EH &l==otd gAY 2,138,000
OEX=Z4H] 2,138,000,000& 2,138,000
SFHH(SEXT) NLotE AL (A=) 3,352,750 5,730,000 A2,377,250
Al 2,863,000
= 489,750
401 AIZHIZ SO 3,352,750 5,730,000 N2,377,250
Al 2,863,000
[Ea 489,750
01 AlZH| 3,352,750 5,323,000 1,970,250
ORHH(SEXNT) NLod FHIALY 3,352,750
OB AHI 3,352, 750,000& 3,352,750
Al 2,863,000
o 489,750
SR XLGHE ZHIAG (A=) 5,000,000 2,770,000 2,230,000
Al 2,319,000
= 2,681,000
401 Al HIZ 2018 5,000,000 2,770,000 2,230,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,319,000
s 2,681,000
01 Al&H| 5,000,000 2,512,000 2,488,000
Oz A7 NLotE AL 5,000,000
OEX sl 5,000,000,000& 5,000,000
Al 2,319,000
o 2,681,000
SelX7 Xgetd ARG (H=H]) 7,761,000 1,400,000 6,361,000
Al 4,230,000
[Ea 3,531,000
401 Al HIZL S 0HYI 7,761,000 1,400,000 6,361,000
Al 4,230,000
= 3,531,000
01 Al&H| 7,555,000 1,400,000 6,155,000
OScIA7 NLotE AL 7,555,000
OEXIDHHI 5,565,000,000& 5,565,000
Al 3,127,000
o 2,428,000
O3 A 2,000,000,000& 2,000,000
Al 1,000,000
T 1,000,000
02 Zeltl 206,000 0 206,000
OScIX7 NLotE AL 206,000
Ozl 206,000,000 206,000
Al 103,000
o 103,000
H=X= XI2ote ZHIAFG (A=) 2,500,000 1,000,000 1,500,000
Al 1,500,000
T 1,000,000
401 Al HIZL 201 2,500,000 1,000,000 1,500,000
Al 1,500,000
= 1,000,000
01 Al&H| 2,500,000 1,000,000 1,500,000
OU=X7 NLotE AL 2,500,000
OEXIDHbI 500,000,000 500,000
Al 500,000
O3 A 2,000,000,000& 2,000,000
Al 1,000,000
[Ea 1,000,000
NAMKIZ XI5 FHIARG (HI=5H]) 3,400,000 2,000,000 1,400,000
Al 2,200,000
[Ea 1,200,000
401 AIEHIZ R 0HYI 3,400,000 2,000,000 1,400,000
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Al 2,200,000
s 1,200,000

01 Al&H| 3,400,000 2,000,000 1,400,000
OAM ALK X0t SHIAI 3,400,000
OEXIHH| 2,400,000,000& 2,400,000
Al 1,700,000
o 700,000
OB A 1,000,000,000& 1,000,000
Al 500,000
[Ea 500,000

=AXF XLSHE FHIAS (S (HEANY) 1,000,000 650,000 350,000
Al 500,000
o 500,000

401 AIEHIX SO 1,000,000 650,000 350,000
Al 500,000
o 500,000

01 AlZ2H| 1,000,000 650,000 350,000
FEX T Aot HHIAE 1,000,000
OEXIHHI 1,000,000,000& 1,000,000
Al 500,000
T 500,000

SR XL FHIANG (54) 1,000,000 800,000 200,000
Al 900,000
[Ea 100,000

401 A& HIX R0 1,000,000 800,000 200,000
Al 900,000
o 100,000

01 AlZ2H| 1,000,000 800,000 200,000
OsteHXI7 XYotd HHIALS 1,000,000
OEXIHHI 1,000,000,000& 1,000,000
Al 900,000
= 100,000

HX 7 XUotd HUIA (A=) 1,000,000 500,000 500,000
Al 750,000
Ea 250,000

401 AIZHIX S0HH 1,000,000 500,000 500,000
Al 750,000
o 250,000

01 AlZ28| 1,000,000 500,000 500,000
OFEXIF XYoot HHIALS 1,000,000
OEXIHHI 1,000,000,000& 1,000,000
Al 750,000
s 250,000
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SeXT Xgstd FHIAG (%t]) 500,000 500,000
401 Al HIZL 201 500,000 500,000
01 Al&HI 500,000 500,000
OF2X 7 NYotd A 500,000
O£l 500,000,000 500,000
3|0r (ot= %) St EHI AL 300,000 300,000
401 AIEHIZ SR THYI 300,000 300,000
01 AlZ8| 300,000 300,000
O3|0F2(otR ) st &Ll JI2HE 8 300,000
O&AHI 300,000,000 300,000
EHSHS(KTX 24t ~ J& 2t) SHEEHIANY 100,000 100,000
401 AlEHIZ 2018 100,000 100,000
01 Al&H| 100,000 100,000
OBHEIY (KTX~& & 2H) JI=gHES 100,000
O£l 100,000,000 100,000
S JHRE g2 5,207,598 3,272,619 1,934,979
= 14,000
Al 3,114,903
[Ea 2,078,69%
2I0Ig=AlE 2t 2,761,113 2,752,708 8,405
Al 2,745,958
= 15,185
20IZ2=A1E X2 (HEAY) 2,761,113 2,752,708 8,405
Al 2,745,958
o 15,155
201 er2 3| 197,452 179,218 18,234
Al 186,007
o 11,355
01 AtR2t2|HI 188,252 170,018 18,234
OZEt=EH| 36,852
o222z 7¢ 2,000,000 2,000
Al 2,000
OJls&A 2g 500,000& 500
Al 500
O=FgAale= 28 d+ 7
660 22,2008 14,652
Al 14,652
OXt&r& x| 1,000,000 *1CH* 12 12,000
Al 12,000
OZHIZXtH| 770,000 *1CH* 102 7,700
Al 7,700
O AN=2 140,045
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SESENFIESIEY
67,1002 x 1550 A +43] 41,602
Al 41,602
O+ A1)
50,0003 1557 A+23] 16,500
Al 15,500
O=ZZAHI(HER)
337,020 155 2+ 12] 52,239
Al 52,239
O==ZIAMHI(F=AIZ)
337,020 200K 2 6,741
Al 6,741
O=ZZAMHI(HFEE, Xot=)
121,000 %155 A+ 12] 18,755
Al 18,755
O+BAAMI(ZEE, )
17,0003 x24I 2% 12 5,208
Al 5,208
OU=0IBAIE H=DI(d=2401) =2 A
= 37,850 »300CH 11,35
2 35244l 9,200 9,200 0
0=32= # HAl 8,000
Oz20IE=AlE a2 =HH|
200,000 #4004 2 8,000
Al 8,000
Oxtgrset] 1,200
OgRtitg 7FHI 1,200,000& 1,200
Al 1,200
202 04l 2,800 2,800
01 =LHAHI 2,800 2,800
o220l 2,800,000& 2,800
203 HR=4AH] 1,000 1,000
03 A= PR FA| 1,000 1,000
O ZHAE BRIV YREX
1,000,000 1,000
307 212+01& 360,000 370,000 /20,000
Al 360,000
05 212+ =S 350,000 370,000 /20,000
OZ0lz=AlE RA2 AEES
350,000,000 360,000
Al 350,000
401 AIEHIX R0 2,200,861 2,199,690 10,171
Al 2,209,861
01 Al&H| 2,201,931 2,191,882 10,049
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SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OA0IBHAE 222 (2=)
550,000,000& 550,000
Al 550,000
OA0IZ4AL 2AZEH(BE)
320,000,000& 320,000
Al 320,000
OA0IBAAIE 22BH(FD)
200,000,000& 200,000
Al 200,000
ON0IZHAE HABT HX L SABE
400,000,000 400,000
Al 400,000
Q20 Ald ZHFIHL S AL
216,000,000& 216,000
Al 216,000
QZ2H0I===AlE HEFS AL 489,000
O20la==Ald 22 WHSA
100,000& *3,000m 300,000
Al 300,000
O2A0IB2AIE SBI(50=) DUBA
27,000,000 *7IH 2~ 189,000
Al 189,000
QZ2H0I=AIE ExS A AAIEH
705,000,000& *3.82% 26,931
Al 26,931
03 A& 2 CHYI 7,930 7,808 122
QZ2H0I=AIE B3 At 7,930,000& 7,930
Al 7,930
ARRASS A 2L 560,485 519,911 40,574
= 14,000
Al 368,945
i 177,540
PSS TRY 72l 560,485 519,911 40,574
= 14,000
Al 368,945
= 177,540
201 Let2| 232,485 228,311 4,174
Al 69,945
i 162,540
01 Ar2eltl 200,196 200,196 0
Oget=2H| 10,000
Ox2E 7Y 6,000,000 6,000
Al 6,000
OMdDl Xeldls 4,000,000 4,000
Al 4,000
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Bl AfESTY 2 (Gt H2)
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C=Ell 3,456
O0r2t g3t F0A S4|
8,0002 x4+« 123 3,456
Al 3,456
OLNEA 22X TI=Y|
200,000+ 11 2,200
Al 2,200
Ol=d o7 =3t 22,000,000 22,000
Al 22,000
OUIR A, THYY SIS Helb|
270,900& *600E 162,540
2 s5=34l 32,289 28,115 4,174
0332 € MAl 9,680
OrII&te= 390,000& * 128 4,680
Al 4,680
OS2 (=21E) 800,000 =2CH 1,600
Al 1,600
OEEZ(=Z0IER) 200,000 *5CH 1,000
Al 1,000
O=2pel U gHAAHEL
200,000 * 122 2,400
Al 2,400
(©Jul=d:] 1,853
Ox4 ¢zl
1,346 %688 £ 22| * 10 A 1,853
Al 1,853
Oxtg - &8t 20,75%
OFFHl 13,676
. TEXE
1,9333#10 £ »20H*202 « 122 9,279
Al 9,279
. =EOIEX
1,83281%2 ¢ x50 =20L 122 4,397
Al 4,397
OsXl2ell| 7,080
. TEXNE 120,000& <2CH+ 122 2,880
Al 2,880
. =EOIEX 70,0002 +5CH* 122 4,200
Al 4,200
202 04l 3,600 3,600 0
Al 3,600
01 =LHOLI 3,600 3,600 0
O=3Udbl 3,600
Od22579 N =&
10,0003 x2Z x 152 x 12 3,600
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el o=k 2 21 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2t X 1,886,000 0 1,886,000
o= 2t SESA 1,886,000 0 1,886,000
308 XXM SOIA 1,886,000 0 1,886,000
07 AX R FE=S 1,886,000 0 1,886,000
Oa=g SALZ AR AR 2t S
& 220,000,000 220,000
OSFAMH 352l =3U0IS 2 LA
e 520,000,000& 520,000
OAMdE 0I201= =2t FEAMY
210,000,000 210,000
Od=H Sz 3 =2 FEAY
240,000,000 240,000
OFKNY Kotel H20tS =2 FEAS
180,000,000 180,000
OFAH x| L3 -2t FEAMS
300,000,000 300,000
OFSH 0|2 Zdit= =2 FEAY
216,000,000 216,000
S30ote=k AlZ 5,509,732 4,209,880 1,299,852
Al 700,000
= 4,809,732
S3ot=E AlIE 5,509,732 4,209,880 1,299,852
Al 700,000
o 4,809,732
22 Mot S35t+E XIS AHAIZ]) 1,405,040 2,007,200 602,160
Al 700,000
o 705,040
401 AlZHIZ SO 1,405,040 2,007,200 602,160
Al 700,000
o 705,040
01 Al&HI 1,400,000 2,000,000 A600,000
o2 doltil SSot+= EXISA
1,400,000,000& 1,400,000
Al 700,000
= 700,000
03 AIZ2THYI 5,040 7,200 A2,160
o2 ot S0tk EXISA
1,400,000,000& *0. 36% 5,040
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